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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
MATH

THIS IS A COMPUTATION QUESTION. Solve for x and y.  3x minus 5y equals 2, and 2x plus 5y equals –32.

ANSWER: x equals –6 and y equals -4 (can be said in either order)
TOSSUP 2
LITERATURE

Its neighbors include Nidavellir (nee-dah-veh-leer), Svartalfheim (swart-alf-hime), and Jotunheim (yoh-toon-hime). Odin and his brothers created it from the flesh and blood of the frost-giant Ymir (ee-mer). It is connected to Asgard with the Bifrost bridge, and is surrounded by the serpent Jormungand (yor-moon-gard). What realm is the home to men in Norse myth?

ANSWER: Midgard or Mannheim
TOSSUP 3
FINE ARTS

Its name was given by Louis Vauxcelles (voh-sel), and Gustave Moreau taught many of its students. Examples of its paintings include The River Seine (sen) at Chatou (shah-too), Charing Cross Bridge, and La Danse (dawns). André Derain and Henri Matisse are the best known painters in what group, whose name means ‘wild beasts’ in French?

ANSWER: Fauvism or Fauvist or Les Fauve(s) (rhymes with ‘rove’)

TOSSUP 4
MATH

THIS IS A COMPUTATION QUESTION. Solve for x and y.  3x plus 4y equals 31 and 8x minus 4y equals 24.

ANSWER: x equals 5 and y equals 4 (can be said in either order)

TOSSUP 5
LITERATURE

In 1957, she conducted a survey of fellow Smith College graduates, focusing on what they did after graduation and their current general happiness with life.  She was a co-founder of both NARAL and the National Organization for Women. What woman, who died in 2005, was an advocate of feminism and wrote The Feminine Mystique?

ANSWER: Betty Friedan (FREE-dan)

TOSSUP 6
SOCIAL STUDIES

Landmarks in this city include the Winter Carnival and the Château Frontenac (shah-toh frawn-teh-nak), a large hotel. It is the home of Laval University, the oldest university in Canada. Its Old Town is the only city in Canada or the United States whose city walls still exist, indeed, it was founded in 1608 by Samuel de Champlain. What is this city, capital of a French-speaking province? 
ANSWER: Quebec City, Quebec

TOSSUP 7
SCIENCE

This compound is a colorless solid with a molecular mass of 98. It can be made through a ‘thermal’ or a ‘wet’ process. It is used in naval jelly to remove rust and to acidify foods such as colas. However, it can react with bodily calcium to cause bone problems. Name this weak triprotic acid that has formula H3PO4.

ANSWER: phosphoric acid
TOSSUP 8
LITERATURE

The Tupac of the literary world, his only play, The Fifth Column, was published in 1969, five years after his death. A 1999 novel, True at First Light, is the latest work. His ‘Complete’ short stories were not published until 1987; they include all the Nick Adams stories. The Dangerous Summer, Islands in the Stream, and A Moveable Feast were all published after the death of what author of The Old Man and the Sea?

ANSWER: Ernest Hemingway
TOSSUP 9
SCIENCE

He made his money with partner Benjamin Moore selling Shenandoah Valley corn whiskey in his native Baltimore. When he died in 1873, he had $7 million of Baltimore & Ohio railroad stock, and so made what was at the time, the single largest donation to an educational institution. Who is the namesake of a famous hospital and university in the city of Baltimore? 

ANSWER: Johns Hopkins (DO NOT accept ‘John Hopkins’)
TOSSUP 10
SCIENCE

The level of this molecule in the air is expressed in Dobson units.  It acts in different ways based on the level of the atmosphere in which it exists; in the troposphere it is considered to be a pollutant and greenhouse gas, trapping infrared radiation.  Most prevalent in the stratosphere is what compound that prevents ultraviolet radiation from reaching the Earth's surface; a compound that is also known as “trioxygen”?

ANSWER: ozone (accept trioxygen before it is said)

TOSSUP 11
SOCIAL STUDIES

Xerox granted this company three days’ access to its PARC laboratory; the Lisa, one of the first computers with a GUI, was the result. Its founder returned as CEO in 1997 and announced a partnership with Microsoft. Its ‘1984’ commercial consisted of a woman running towards a giant television screen and throwing a sledgehammer. What makers of the Macintosh line of computers now focus on products like the iPhone? 

ANSWER: Apple Computer, Inc.

TOSSUP 12
MATH

Ones from Windows 95 that were incorporated into Windows XP include CAB (spell it out) viewer and the Desktop Menu. The most famous one is still available only in the package TweakUI (tweak U I), which allows the users to change the user interface. Name these downloads offered for free by Microsoft for Windows. 

ANSWER: Power Toys for Windows

TOSSUP 13
SOCIAL STUDIES

This nation declared independence on August 17, 1945. Its first President sought to build a government based on ‘Pancasila,’ or five principles, before being overthrown in a 1965 coup by anti-Communist military members led by Suharto. Under Suharto, it annexed West Irian in 1973 before invading East Timor in 1975. What nation has its fourth-largest-in-the-world population scattered over 6,000 islands? 

ANSWER: Indonesia
TOSSUP 14
MISCELLANEOUS

A ‘common trip’ variety is used when there is more than one live conductor. This common household item also comes in magnetic, thermomagnetic, and thermal varieties. While a fuse can only be used once, what electrical switch can be used multiple times after a short or an overload causes them to be ‘tripped’? 


ANSWER: circuit breaker(s)

TOSSUP 15
LANGUAGE ARTS

In 1762, Robert Lowth was the first to describe this as a grammatical error in English, stating that using it would cancel the intended meaning. However, Chaucer used it in his poetry, using it to describe the Friar and the Knight, as did anyone who ever wrote in Romance languages, where its use is required. “I don’t got no money” is an example of what grammatical error?

ANSWER: double negative or double negation
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
LITERATURE

In the 1960s, he conducted interviews with Miles Davis and Martin Luther King for Playboy magazine. David Stevens finished his second historical novel, Queen, after his death in 1992. He is, however, more familiar for writing someone else’s autobiography and for fictionalizing the life of his supposed ancestor, Kunta Kinte. Who wrote The Autobiography of Malcolm X and Roots? 

ANSWER: Alex Haley
BONUS 16
MISCELLANEOUS

Identify these holders of NBA records.

A.
This graduate of some school to the west of Missouri scored 100 points against the New York Knicks on March 2, 1962. 


ANSWER: Wilt Chamberlain
B.
He holds the record for most points scored over a career.


ANSWER: Kareem Abdul-Jabbar or (Ferdinand) Lew(is) Alcindor
C.
He made over half his three point attempts in 1994-95, setting a record for three point accuracy, but is also known for making the series winning shot in the 1996-97 NBA finals. 


ANSWER: Steve Kerr
D.
Nicknamed ‘The Chief,’ this Boston Celtics center in the 1980s played in a record 1,611 games over 21 seasons. 


ANSWER: Robert Parish
TOSSUP 17
LITERATURE

The main character of this short story rejects an offer from Mr. Trigg to buy him a gun and ‘make the feathers fly.’ His wife wonders why he is boarding the windows up, and his children Jill and Johnny are oblivious. As the story comes to an end, Nat Hocken throws a cigarette under the chimney, and Britain is under relentless avian attack. What Daphne du Maurier short story was made into an Alfred Hitchcock movie? 

ANSWER: ‘The Birds’

BONUS 17
SCIENCE

When a number is expressed in scientific notation, the exponent to which 10 is raised is sometimes called the order of magnitude. What is the order of magnitude of . . .

A.
The charge on an electron?

ANSWER: -19
B.
The mass of an electron, in kilograms, within one?

ANSWER: -31 [accept -30 or -32]

C.
Faraday's constant?

ANSWER: 5
D.
The electric constant, epsilon naught, that appears in Coulomb's law?

ANSWER: -12
TOSSUP 18
SCIENCE

It makes up about one-third of collagen and its codons are GGG, GGA, GGC, and GGU.  Its molecular mass is 75, its molecular formula is C2H5NO2, and it has no center of chirality, making it the only protein-forming amino acid not to have one.  Name this simplest amino acid, abbreviated gly.

ANSWER: glycine
BONUS 18
MATH

THIS IS A COMPUTATION QUESTION. Remembering to give units, what are the areas of the following?

A.
A trapezoid of height 10 feet and base lengths 6 feet and 12 feet.  

ANSWER:  90 square feet
B.
A square with perimeter 12 feet.



ANSWER: 9 square feet
C.
A rectangle of length 6 feet and perimeter 22 feet.


ANSWER: 30 square feet
D.
A triangle of base length 14 feet and height 22 feet.


ANSWER: 154 square feet
TOSSUP 19
SOCIAL STUDIES

The first one featured the Galloway Plan of Union and a compact between the twelve governments in attendance to boycott British goods. The second one presented the Olive Branch Petition but then stayed in session for six more years until 1781, when the Articles of Confederation were adopted. What was the first attempt by the United States to form a national government? 

ANSWER: Continental Congress(es)

BONUS 19
LITERATURE

Identify these existentialists.

A.
Fear and Trembling and Either/Or were by what 19th century Dane?


ANSWER: Soren Aabye Kierkegaard
B.
‘Hell is other people’ was the sentiment of what Frenchman that wrote No Exit and Being and Nothingness? 


ANSWER: Jean-Paul (zhan-pole) Charles Aymard Sartre
C.
What feminist and mistress of Sartre wrote The Second Sex?


ANSWER: Simone de Beauvoir (dih boh-vwah)

D.
Being and Time is the best-known work of what German philosopher?


ANSWER: Martin Heidegger
TOSSUP 20
MISCELLANEOUS

The 2005 Broadway opening of this show included Hank Azaria and Tim Curry. In Las Vegas, John O'Hurley will play a monarch with trouble counting to three. Eric Idle penned this musical, the 2004-05 Tony winner. What musical is based on a film by Monty Python and a Hormel Foods product, and centers on the search for the Holy Grail?

ANSWER: Spamalot (DO NOT or prompt on accept an answer with ‘Holy Grail’)

BONUS 20
LITERATURE

Name these wooded settings in world literature.

A.
This is the home of Winnie-the-Pooh and his friends in A.A. Milne’s works.

ANSWER: Hundred-Acre Wood

B.
Robin Hood and his Merry Men live in this forest home.

ANSWER: Sherwood Forest

C.
This is the home of Badger in Kenneth Graheme’s The Wind in the Willows.

ANSWER: Wild Wood

D.
Hogwarts students are warned in their first years not to approach this area on the outskirts of the grounds.

ANSWER: Forbidden Forest

TOSSUP 21
SCIENCE

It uses high-frequency alternating voltage and a perpendicular magnetic field.  The world’s largest one is at TRIUMF in British Columbia.  It can be used to treat cancer.  Its inventor won the 1939 Nobel Prize in Physics.  In 1930, Ernest Lawrence invented what circular particle accelerator? 

ANSWER: cyclotron
BONUS 21
MATH

THIS IS A COMPUTATION QUESTION. What are the determinants of the following matrices, whose elements are read in the following order: top left, top right, bottom left, bottom right? 

A.
4, 9, 12, 5.


ANSWER: -88
B.
8, 3, 6, 12.


ANSWER: 78
C.
12, 8, 9, 11.


ANSWER: 60
D.
14, 12, 11, 16.


ANSWER: 92
TOSSUP 22
FINE ARTS

The audience demanded two encores at this work’s London premiere on October 22, 1901, prompting the composer to write four more marches with this name. However, the first is by far the most popular, especially after its first performance at Yale University in 1905, at a ceremony where the composer got an honorary doctorate of music. Sir Edward Elgar wrote what march that is forever associated with graduations? 

ANSWER: Pomp and Circumstance, No. 1
BONUS 22
LANGUAGE ARTS

Identify the desired parts of the following sentences. (Moderator: Please read the sentences slowly so teams can write them down.)
A.
The indirect object in, ‘I gave Tom his well-earned trophy.’


ANSWER: Tom
B.
The transitive verb in, ‘I ran a winning race, so I received a lot of praise.’


ANSWER: received
C.
ALL the pronouns in, ‘I gave her something she thought was her book.’

ANSWER: I / her / she
D.
The appositive phrase in, ‘All students failing more than one class will not be able to play academic competition.’


ANSWER: failing more than one class 
TOSSUP 23
MATH

THIS IS A COMPUTATION QUESTION. What is the slope of a line parallel to the line 7x minus 12y equals 40?

ANSWER: 7/12
BONUS 23
SCIENCE

19 It is the most common disorder of glucose metabolism.

A.
Name this disorder that affects over 20 million Americans, sometimes abbreviated DM.

ANSWER: (type 2) diabetes (mellitus)

B.
The most common form of diabetes results from a resistance to the effects of this hormone.

ANSWER: insulin
C.
Insulin is produced in this organ.

ANSWER: pancreas
D.
Insulin tends to drive glucose out of the blood; this other pancreatic hormone opposes insulin, tending to increase blood glucose levels.

ANSWER: glucagon [GLOO-kuh-gon]

TOSSUP 24
SOCIAL STUDIES

Henry Campbell-Bannerman was the first to adopt it as an official title. Spencer Perceval was the only one ever assassinated. The last one to die in office was Lord Palmerston in 1865. The person holding this title has also been the First Lord of the Treasury, and Robert Walpole was the first one recognized as one. What office has more recently been held by Jim Callaghan, John Major, and Tony Blair?

ANSWER: Prime Minister of Great Britain (accept answers with ‘Great Britain,’ ‘England,’ ‘British,’ or ‘English’ in them)
BONUS 24
SOCIAL STUDIES

Answer these questions about contemporary Mideast leaders.
A.
Who ruled Egypt from 1970 until his 1981 assassination?


ANSWER: (Muhammad) Anwar al-Sadat
B.
What family has ruled Syria since 1970?

ANSWER: al-Assad (Hafez and Bashir)
C.
What woman was Prime Minister of Israel between 1969 and 1974?
ANSWER: Golda Me’ir (accept Golda Mabovitz or Golda Meyerson)

D.
Reza and Mohammad Reza were the two rulers of what dynasty of Iranian shahs?

ANSWER: Pahlavi
TOSSUP 25
MATH

THIS IS A COMPUTATION QUESTION. What is the median of 33, 21, 73, 16, 8, and 44?

ANSWER: 27
BONUS 25
SOCIAL STUDIES

Answer these questions about the 1970s. 

A.
What 1973 Supreme Court decision overturned state laws banning abortion?


ANSWER: Roe v. Wade
B.
What heiress was kidnapped by the Symbionese Liberation Army and later joined their bank robberies? 


ANSWER: Patricia (or Patty) Campbell Hearst Shaw

C.
What Cabinet Department was created in 1977?


ANSWER: Department of Energy
D.
In 1979, dollar coins bearing what person’s face were introduced?


ANSWER: Susan B. Anthony
HALFTIME
Third period: 15 toss-ups
TOSSUP 26
LITERATURE

Its two sects, Digambar and Svetambar, disagree over whether monks need to wear clothes and whether women can achieve enlightenment. Both agree on the Nine Tattvas. It has 24 prophets called Tirthankaras (teer-than-kah-rahs), with the last being Mahavira (mah-hah-vee-rah). What religion, possibly descended from the Indus civilization, is notable for its practice of ahimsa (ah-heem-sah), or non-violence?

ANSWER: Jain(ism) or Jain(ist)

TOSSUP 27
SCIENCE

For fluorine, it is minus one; for potassium, plus one; and for calcium, plus two.  For oxygen, it is usually minus two, but can be minus one with peroxides, or positive when fluorine is involved.  Transition metals can have several of them.  Name this term that is basically equal to the charge an atom has in a compound of ions.

ANSWER: oxidation number

TOSSUP 28
MATH

THIS IS A COMPUTATION QUESTION. In lowest terms, what is 7/9 plus 1/6 minus 13/27?

ANSWER: 25/54
TOSSUP 29
SCIENCE

This animal’s inability to tolerate salinity kept it from migrating into the Chesapeake Bay after its discovery in Maryland in 2002.  A highly carnivorous species, it can breathe in air as well as underwater, allowing its young to survive out of water for several days.  Listed as a highly invasive species in the US is what breed of fish that is native to Asia, and known for its appearance to a breed of reptile?

ANSWER: Northern Snakehead
TOSSUP 30
SOCIAL STUDIES

He predicted the German war reparations were too great and would lead to further conflict. However, he is best-known for The General Theory of Employment, Interest, and Money. The saying, ‘In the long run, we are all dead,’ is attributed to what British economist who believed aggregate demand could be stimulated by government spending, thus bringing the West out of the Great Depression? 

ANSWER: John Maynard Keynes
TOSSUP 31
SCIENCE

The incision for it is usually made over McBurney’s point, but it may also be performed laparoscopically (lah-pro-skaw-pih-klee).  Kurt Warner had one in 2000 and Ben Roethlisberger had one in 2006.  Name this surgery in which a vestigial pouch-like structure of the colon is removed. 

ANSWER: appendectomy
TOSSUP 32
SOCIAL STUDIES

Its former CEO Franklin Raines is still under SEC investigation. Founded in 1938 as a government agency, it became fully private in 1968 and continues to back conforming loans by buying mortgage-backed securities. What government-sponsored enterprise, formally the Federal National Mortgage Administration, competes with Freddie Mac?

ANSWER: Fannie Mae (accept Federal National Mortgage Administration before it is said)
TOSSUP 33
MISCELLANEOUS

In 1995, this band performed three concerts, in three continents, in one day. This seems to have sapped their success, as recent albums such as X and Slang sold poorly. This was a letdown for one of the six bands to sell two albums with over 10 million copies in the US. Pyromania and Hysteria are albums from what band known for the songs “Photograph,” “Rocket,” “Love Bites,” and “Pour Some Sugar on Me”? 

ANSWER: Def Leppard
TOSSUP 34
LITERATURE

She rejected Prince Rabadash’s marriage proposal, preferring instead to practice her archery and look at the horn that brings aid in difficult times. In The Last Battle, she was ‘interested in nothing now-a-days except nylons and lipstick and invitations.’ A trip to America prevented her from going to the World’s End with Reepicheep and Caspian. What second-oldest Pevensie is the sister of Edmund, Peter, and Lucy?

ANSWER: Susan Pevensie

TOSSUP 35
SOCIAL STUDIES

He got Austria to start the Seven Weeks’ War, and won it. He tried in vain to keep out of wider struggles, especially in the Balkans, where he famously predicted the ‘next war’ would be fought. He attempted, and failed, to reduce the power of the Catholic Church during the Kulturkampf. He resigned in 1890 amid disagreements with Wilhelm (vil-helm) II. Who engineered German unification and was known as the ‘Iron Chancellor’? 

ANSWER: Otto von Bismarck
TOSSUP 36
LITERATURE

This man was the son of Russian immigrants, wrote several novels, including one about Charlie Citrine and his mentor Von Humboldt Fleisher. The 1976 Nobel Prize in Literature winner is what author of Humboldt's Gift, who died in April 2005 and was most famous for writing The Adventures of Augie March?

ANSWER: Saul Bellow
TOSSUP 37
FINE ARTS

Early on, he produced Madonna of the Steps and Battle of the Centaurs. He produced a statue, Cupid, which he treated to fraudulently look more ‘ancient.’ Due to a Biblical mistranslation, his seated statue of Moses has horns. He also sculpted the Pietà (pee-ay-tah) and a 17-foot-high statue of David. The Creation of Adam is a part of what artist’s most famous work, the ceiling of the Sistine Chapel? 

ANSWER: Michelangelo Buonaroti

TOSSUP 38
MATH

From the Greek for overshooting, it is comprised of two disconnected curves called branches or arms.  Its rectangular type has an eccentricity of the square root of two; indeed, all of them have eccentricity above one.  Name this conic section that is the locus of points where the difference in distance to two points, called foci (foh-seye), is constant.

ANSWER: hyperbola
TOSSUP 39
MATH

THIS IS A COMPUTATION QUESTION. If x equals 7 when y equals 17 and maintains that ratio, what does y equal when x equals 91, remembering that 91 divided by 7 equals 13?

ANSWER: y equals 221
TOSSUP 40
LANGUAGE ARTS

One meaning of this originates in a Latin word meaning ‘spring’ and refers to a container of water used for baptisms or an abundant source of something, such as wisdom. What word’s other meaning originates in a French word meaning ‘a casting’ and is used by printers to refer to a typeface style such as Garamond, Palatino, Courier, or Times New Roman? 

ANSWER: font
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
MATH

THIS IS A COMPUTATION QUESTION. If A = 26 through Z = 1, what is the numerical value of G as in ‘golf’ times W as in ‘whiskey’ times X as in ‘x-ray’?

ANSWER: 240
BONUS 41
LITERATURE

Name these plays by Eugene O’Neill.

A.
The farmer James Mayo and his wife Kate are central characters in this 1920 play, the first of O’Neill’s four Pulitzer Prizes.

ANSWER: Beyond the Horizon

B.
The title character of this play, which takes place mostly on a large boat, falls in love with Mat Burke.

ANSWER: Anna Christie

C.
Ephraim Cabot and his son Eben both love the same woman in this 1924 play.

ANSWER: Desire Under the Elms  

D.
The frugal actor James Tyrone, Jr. is the protagonist of this 1957 play.

ANSWER: Long Day’s Journey into Night

TOSSUP 42
MISCELLANEOUS

He started as a Top 40 deejay with the aliases Jeff Christie and Rusty Sharpe, and replaced Morton Downey, Jr., in Sacramento in 1984. In 1988, he moved to New York City, where he has broadcast from since. He wrote two books, The Way Things Ought to Be and See, I Told You So. His attempt at NFL commentary failed due to racially-charged comments about Donovan McNabb. Who is this conservative talk-show host?

ANSWER: Rush Limbaugh
BONUS 42
MISCELLANEOUS

Restaurants and Institution magazine provides a list of the best chains in America to get select food from. Given a type of food, name the restaurant selected as the best in the 2007 version of the list. 

A.
Italian – this restaurant proclaims, ‘When you’re here, you’re family.’


ANSWER: Olive Garden
B.
Sandwich – this chain is still called The St. Louis Bread Company in some parts of Missouri.


ANSWER: Panera Bread

C.
Steakhouse – this chain proclaims, ‘No rules, just right.’


ANSWER: Outback

D.
Hamburgers – this chain sells frozen custard and ‘butterburgers.’ 


ANSWER: Culver’s 

TOSSUP 43
LITERATURE

Sights in this novel include Red Sea coral, wrecks from the Battle of Vigo Bay, the remains of Atlantis, and a group of hostile giant squid. Professor Arronax, Conseil, and Ned Land escape at the end. This novel’s title refers to the distance traveled, and not the depth, which would be impossible as it is 20 times the Earth’s radius. Captain Nemo’s submarine, the Nautilus, appears in what novel by Jules Verne? 

ANSWER: 20,000 Leagues Under the Sea
BONUS 43
SCIENCE

In which constellation are these stars located?

A.
Sirius

ANSWER: Canis Major or Greater Dog [accept Big Dog]

B.
Betelgeuse [“beetlejuice”]

ANSWER: Orion or the Hunter
C.
Castor

ANSWER: Gemini
D.
Rigel [RY-jul]

ANSWER: Orion or the Hunter
TOSSUP 44
SOCIAL STUDIES

Cowkeeper was the first known leader of this Native American tribe, and under Micanopy’s rule, the tribe was split up. The ‘Black’ branch of this tribe is mostly descended from runaway slaves. In 1842, the US government simply abandoned its war against them; they are the only tribe to have never signed a peace treaty with the US. What Native American tribe is associated with Chief Osceola and the state of Florida? 

ANSWER: Seminole(s)

BONUS 44
MATH

THIS IS A COMPUTATION QUESTION. Convert the following fractions into percentages.

A.
7/20


ANSWER: 35 percent

B.
7/8


ANSWER: 87.5 percent

C.
41/80


ANSWER: 51.25 percent

D.
4/125


ANSWER: 3.2 percent

TOSSUP 45
SOCIAL STUDIES

He joined the Committee of Union and Progress in 1907, but his opposition to Ismail Enver meant he could not achieve further power. He was given commands in the Caucasus and the Palestine campaigns, after commanding the troops that counterattacked after the initial landing at Gallipoli. He drove out Armenian, French, and Greek forces after World War I. By 1923, who had become the first president of modern Turkey? 

ANSWER: Mustafa Kemal Atatürk
BONUS 45
SOCIAL STUDIES

Identify these figures in Virginia’s colonial history.

A.
When the Jamestown settlers arrived, who led a confederacy of about 30 Indian tribes that ruled over most of eastern Virginia? 


ANSWER: Powhatan 

B.
Who married Pocahantas and made tobacco growing a profitable enterprise in Virginia?


ANSWER: John Rolfe
C.
In 1676, what man led a rebellion against the governorship of Sir William Berkeley?


ANSWER: Nathaniel Bacon
D.
He wanted to execute John Smith. Who commanded the Godspeed, Discovery, and Susan Constant as they landed at Jamestown in 1607? 


ANSWER: Christopher Newport
TOSSUP 46
LITERATURE

This novel’s protagonist is the companion of Chani and husband of Princess Irulan. Wellington Yueh (yoo-ay) betrayed his master and enabled the imperial Sardaukar (sar-dow-kar), disguised as Harkonnen troops, to defeat Duke Leto’s army. The Padishah Emperor Shaddam IV is overthrown and replaced by Paul Atreides (ah-tray-deez) at the end of what novel by Frank Herbert set on Arrakis, a desert planet? 

ANSWER: Dune
BONUS 46
SOCIAL STUDIES

Given the years it lasted, name the Chinese dynasty.

A.
1600 to 1046 BC.

ANSWER: Shang
B.
206 BC to 220 AD.

ANSWER: Han
C.
618 AD to 907 AD.

ANSWER: T’ang
D.
1368 AD to 1644 AD.

ANSWER: Ming
TOSSUP 47
LANGUAGE ARTS

This name was given to the boy in 2001’s ‘Torso in the Thames’ (temz) murder case. It was the name of Coleco’s attempt at a home computer. It is the name of the ‘code’ used to announce missing children within Wal-Marts or other enclosed areas. It is the first name of Kyle Petty’s racecar-driving son and the lead singer of Maroon 5. What name, meaning ‘ground’ or ‘earth’ in Hebrew, was given by God to the first man He created? 

ANSWER: Adam

BONUS 47
FINE ARTS

Poetry often finds its way into classical music.

A.
The World War I poetry of Wilfred Owen served as half the text for this composer's War Requiem.


ANSWER: Benjamin Britten
B.
Beethoven set this poem by Schiller in the final movement of his ninth symphony.


ANSWER: Ode to Joy (accept Ode to Happiness or An die Freude)

C.
This Russian, more famous for his four piano concertos, set Poe's ‘The Bells’ to music.


ANSWER: Sergei Rachmaninoff
D.
German translations of Tang-Dynasty Chinese Poetry make up the text to this six-movement cycle by Gustav Mahler.


ANSWER: The Song of the Earth (accept Das Lied von der Erde)

TOSSUP 48
SCIENCE

Their toes use spatula-tipped setae and van der Waals forces to adhere to surfaces.  Some species of this reptile are parthenogenic.  Types of them include Bibron’s, crested, golden, leopard, stump-toed, and Tokay.  Name this small lizard known for its appearance in auto insurance commercials.

ANSWER: gecko
BONUS 48
SCIENCE

11 Which acid has the chemical formula . . .

A.
HCl?




ANSWER: hydrochloric acid

B.
CH3COOH [C-H-3-C-O-O-H]?
ANSWER: acetic acid

C.
HBrO4 [H-B-R-O-4]?


ANSWER: perbromic [pur-BROH-mik] acid
D.
HNO2 [H-B-R-O-4]?


ANSWER: nitrous acid

TOSSUP 49
SCIENCE

It is a silvery white metal that is found in uranium ores such as pitchblende.  Its most common isotope has a half-life of 1600 years and atomic mass number 226.  Name this heaviest alkaline earth metal discovered by Pierre and Marie Curie that has atomic number 88 and symbol Ra.

ANSWER: radium (NOT radon)

BONUS 49
MATH

THIS IS A COMPUTATION QUESTION. Square the following numbers.

A.
32

ANSWER: 1024
B.
13

ANSWER: 169
C.
56

ANSWER: 3136
D.
24

ANSWER: 576
TOSSUP 50
MATH

THIS IS A COMPUTATION QUESTION. What is the midpoint between (6, -8) (read as: six, comma, negative eight) and (-12, 20) (read as: negative twelve, comma, twenty)? 

ANSWER: (-3, 6)
BONUS 50
LITERATURE

Name these transcendentalist authors from works.

A.
“Nature,” “Experience,” and “Self Reliance.”

ANSWER: Ralph Waldo Emerson

B.
“Walden” and “Civil Disobedience.”

ANSWER: Henry David Thoreau

C.
“At Home and Abroad” and “Woman in the 19th Century”

ANSWER: Margaret Fuller

D.
“Tablets” and “Concord Days.”

ANSWER: Amos Bronson Alcott
END OF MATCH

Spare questions
TOSSUP 51
LANGUAGE ARTS

What three words could you use to tell a Spanish speaker you knew well to “Open the door”?

ANSWER: abre la puerta (ah-bray lah pwayr-tah)

BONUS 51
LANGUAGE ARTS

Name these words with different meanings but similar pronunciations.

A.
A platform for transporting things, or a selection of varying paints.


ANSWER: pallet/palette

B.
A contracting tissue in the human body, or a mollusk.


ANSWER: muscle/mussel

C.
To compare two things, or a type of fungus.


ANSWER: liken/lichen

D.
A synonym for funny, or simply the funny bone.


ANSWER: humorous/humerus

TOSSUP 52
SCIENCE

Spirit Mountain Ranch in Arizona has bred seven of them:  a female named Miracle Moon and six of her descendants.  Sacred to Native Americans, one is featured on the state flag of Wyoming.  Name this rare leucistic or albino version of a type of bovine that is normally brown.

ANSWER: white buffalo or white bison
BONUS 52
FINE ARTS

Given a work, name the artist.

A. 
I and the Village
ANSWER: Marc Chagall
B. 
The Anatomy Lesson of Dr. Nicolas Tulp.


ANSWER: Rembrandt Harmenszoon van Rijn

C. 
View of Toledo
ANSWER: El Greco (accept Domenikos Theotokopoulos)

D. 
Third of May, 1808.

ANSWER: Francisco José de Goya y Lucientes

TOSSUP 53
LITERATURE

The line, ‘Walk! Not bloody likely!’ shocked the Edwardian audience of this play. At its end, the female lead declares she will marry Freddy Eynsford-Hill. The play’s title refers to a figure in Greek mythology that literally was able to create the perfect woman. Phonetics professor Henry Higgins gets Cockney flower girl Eliza Doolittle to become a proper society lady in what play by George Bernard Shaw? 

ANSWER: Pygmalion
BONUS 53
MATH

THIS IS A COMPUTATION QUESTION. Convert the following lengths into inches.

A.
3 yards

ANSWER: 108
B.
1/2 mile
ANSWER: 31680
C.
13 feet

ANSWER: 156
D.
4 fathoms
ANSWER: 288
TOSSUP 54
MATH

THIS IS A COMPUTATION QUESTION. The positive square root of 1050 is between what two integers?

ANSWER: 32 and 33 (acceptable in either order)

BONUS 54
MISCELLANEOUS 

Where is Upton Sinclair now? Answer the following about food recalls in the United States.

A.
In 2006, E. coli was found in 25 states in prepackaged bags of this produce.  


ANSWER: Spinach

B.
In early 2007, salmonella infected Great Value brand peanut butter along with this ConAgra brand. 


ANSWER: Peter Pan
C.
On October 5th, 2007 this company closed its doors after the second largest Beef recall in United States history – due to E. coli infecting 21.7 million pounds of frozen ground beef. 


ANSWER: Topps Meat Company

D.
On October 11th, 2007, ConAgra asked stores to pull Generic brand chicken and Turkey pot pies due to salmonella, along with this ConAgra name brand.


ANSWER: Banquet

TOSSUP 55
FINE ARTS

They can be performed en dehors (awn day-or), where the performer turns outwards from the supporting leg, or en dedans (awn day-dawn), where the performer turns inwards. They are usually performed with the toe of one leg pointed next to the knee of the leg that stays on the ground. What move in ballet consists of the dancer spinning around while standing en pointe (awn puh-wahnt)? 

ANSWER: pirouette
BONUS 55
SOCIAL STUDIES

I’ll give you a continent, and you name its highest mountain.

A. 
Europe, including Russia.
ANSWER: Elbrus 

B. 
South America

ANSWER: Aconcagua

C. 
Antarctica


ANSWER: Vinson Massif
D. 
Australia’s ‘mainland.’
ANSWER: Mount Kosciusko (kosh-choosh-koh)

TOSSUP 56
MISCELLANEOUS

A “Natural” one is done in order – Gary Matthews, Jr., accomplished this with the Texas Rangers in 2006 by homering off of Mike Maroth in the 6th inning.  Three players have accomplished it in 2007, the last being Aubrey Huff, who finished it with a bloop single in the 7th inning.  What is this baseball feat, where a player collects a single, double, triple, and home run in the same game?


ANSWER: hitting for the cycle
BONUS 56
LITERATURE

Name these novels from their first lines.

A.
“All children, except one, grow up.”

ANSWER: Peter Pan

B.
“Last night I dreamt I went to Manderley again.”

ANSWER: Rebecca

C.
“On the 24th of February, 1815, the look-out at Notre-Dame de la Garde signalled the three-master, the Pharaon from Smyrna, Trieste, and Naples.”

ANSWER: The Count of Monte Cristo
D.
“Marley was dead, to begin with.  There is no doubt whatever about that.”

ANSWER: A Christmas Carol

TOSSUP 57
SOCIAL STUDIES

It was separated from the province of the same name in 1880, and it now includes the neighborhoods of Flores and Belgrano. This city has the largest Jewish community in Latin America. Landmarks in this city include the Colón (koh-lohn) opera house and the Plaza (plah-sah) de Mayo (mah-yoh). Located near the Paraná River’s junction with the Rio de la Plata is what capital of Argentina?

ANSWER: Buenos Aires (BWAY-nohs EYE-rays), Argentina

BONUS 57
SCIENCE

20 Which blood vessel carries blood . . .

A.
Out of the heart and to the rest of the body?

ANSWER: aorta
B.
To the lungs?

ANSWER: pulmonary artery [prompt on partial answer]

C.
From the legs directly into the inferior vena cava?

ANSWER: iliac veins [ILL-ee-ak] [prompt on partial answer]

D.
From the aorta to the head and neck?

ANSWER: (common) carotid artery [or carotid arteries; accept brachiocephalic artery]
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